75 B A FTE L 15

BifE B - 5 F1034£08 A 29H SE—HYA FHhY)—H5T
IE6L | K % R OUT | IN | GR | HDCP | NET ] IEhL | K £ R OUT | IN | GR | HDCP | NET et
B RE — 42 | 46 | 88 | 23.2 | 64.8 |AE 31 |FH EH 49 | 40 | 89 | 16.4 | 72.6
#iE EHE EA 42 | 37| 79 | 12.8 | 66.2 |AE 32 |HFEM A 42 | 41| 83| 10.4 | 72.6
3 | CF 47 | 45| 92 | 25.6 | 66.4 |AE 3 |FR®E E= 41 | 40 | 81 8.3 | 72.7
4 |%EHE ¥ 37| 38| 75 1.5 | 67.5 |AE 34 |HKX EAE 43 | 40 | 83 | 10.1 | 72.9
5 Bl #E 39 | 42 | 81 | 13.4 | 67.6 |AE 35 |fJIl BhEE 44 | 39 | 83 9.9 | 73.1
6 &HH & 39 | 42 | 81 | 12.5 | 68.5 |AE 36 |F #E{T 44 | 44 | 88 | 14.8 | 73.2
7 |E &S 41| 36 | 77| 8.4 | 68.6 |AE 37 |Rk @A 36 | 46 | 82 | 8.6 | 73.4
8 /& & 38| 39| 77| 8.4 | 68.6 38 |MHE E— 48 | 46 | 94 | 20.5 | 73.5
9 E&F #HX 44 | 40 | 84 | 15.2 | 68.8 39 B =% 45 | 44 | 89 | 15.4 | 73.6
10 | S% LE 44 | 44 | 88 | 19.2 | 68.8 40 K o 48 | 45| 93 | 19.2 | 73.8
11 B BE 37| 41 ] 78 9.2 | 68.8 41 |HRE M 44 | 44 | 88 | 14.0 | 74.0
12 | =+ % 45 | 43 | 88 | 18.6 | 69.4 42 AR B 45 | 46 | 91 | 16.9 | 74.1
13 |EE = 44 | 42 | 86 | 16.3 | 69.7 43 |FEWM Bz 44 | 40 | 84 | 9.8 | 74.2
14 |HFR 43 | 44 | 87 | 11.3 | 69.7 44 EH EE 38 | 45 | 83 8.8 | 74.2
15 |#H =Em 49 | 45 | 94 | 24.2 | 69.8 45 |RB B 43 | 42 | 85 | 10.3 | 74.7
16 |@EH ZE 38| 37| 75| 52| 69.8 46 |JIL FMAE 47 | 42 | 89 | 14.2 | 74.8
17 |[A% Et 44 | 42 | 86 | 16.1 | 69.9 47 |&E BEX 4 | 41| 82| 1.2 | 74.8
18 |ER == 48 | 44 | 92 | 22.0 | 70.0 48 EFH Hif 55 | 49 [ 104 | 29.0 | 75.0
19 B BE 46 | 46 | 92 | 21.8 | 70.2 49 ¥ # 45 | 41| 86 | 11.0 | 75.0
20 |AH AE 38| 37| 75| 47| 170.3 50 |EH R 47 | 51 | 98 | 23.0 | 75.0
21 B 2 39 | 40| 79| 8.4 | 70.6 51 JIE REX 49 | 47 | 96 | 20.8 | 75.2
22 ;=B EEA 42 | 40 | 82 | 11.2 | 70.8 52 |R&AIN R= 41 | 40 | 81 5.8 | 15.2
23 |ZL B 40 | 38 | 78 6.9 | 71.1 53 |=A Al 51 | 51 [102 | 26.7 | 75.3
24 |BEE R 38 | 45| 83 | 11.8 | 71.2 54 |thRE &% 48 | 46 | 94 | 18.6 | 75.4
25 |RE FH 42 | 42 | 84 | 12.3 | 1.7 55 B —=% 40 | 41 | 81 5.6 | 75.4
26 & M=E 39| 38| 77| 5.1 | 7.9 56 L& SEKER 39 | 43| 82 | 6.4 | 756
27 & #&x 44 | 43 | 87 | 15.1 | 71.9 57 |EX B=E 38| 40| 78| 2.2 | 758
28 |tkBk TE 50 | 46 | 96 | 24.0 | 72.0 58 R #F 47 | 53 [100 | 24.2 | 75.8
29 B —H 52 | 49 | 101 | 28.7 | 72.3 59 |EEH EmEx 43 | 51 | 94 | 18.2 | 75.8
30 |FE HER 40 | 40 | 80 | 7.5 | 72.5 60 |EHE FA 47 | 46 | 93 | 17.1 | 75.9
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SE—HYA FHhY)—H5T

IE6L | K % R OUT | IN | GR | HDCP | NET ] IEhL | K £ R OUT | IN | GR | HDCP | NET et
61 |HE XX 53 | 47 | 100 | 23.7 | 76.3 91 el #iF 54 | 42 | 96 | 13.7 | 82.3
62 B8 B%h 48 | 46 | 94 | 17.5 | 76.5 92 Bl =E 56 | 45 [101 | 17.2 | 83.8
63 Kb IER 45 | 45| 90 | 13.5 | 76.5 93 Atk BEER 55 | 54 |109 | 25.0 | 84.0
64 /NI B— 46 | 44 | 90 | 13.4 | 76.6 94 |FAk HKE 46 | 49 | 95 | 10.9 | 84.1
65 /MU ER 46 | 45 | 91 | 14.3 | 76.7 9 |& % 49 | 54 | 103 | 17.3 | 85.7
66 |Rtg #MF 45 | 48 | 93 | 16.3 | 76.7 96 |Rith T 56 | 60 |116 | 27.8 | 88.2
67 |ILE BATHE] 41 | 37| 78 1.2 1 76.8 97 |lUE < #&#F 55 | 51 |106 | 17.5 | 88.5
68 [EE & 45 | 48 | 93 | 16.1 | 76.9 98 HH BE— 56 | 63 [119 | 30.0 | 89.0
69 |FMR =% 50 | 54 [ 104 | 27.0 | 71.0
0 |HF &= 43 | 47 | 90 | 13.0 | 77.0 K& HE 43 | 46 | 89 AEEWEEL
7 |7&HE RHEE 43 | 42 | 85 7.9 1 77.1 EE XF 44 | 40 | 84 AEEWEEL
72 |WF 1% 50 | 46 | 96 | 18.7 | 77.3 =g FIRE 41 | 43 | 84 AEEWEEL
13 |HR FE 51 | 48 | 99 | 21.7 | 71.3 HHR 49 | 48 | 97 AEEWEEL
14 Ik & 46 | 45 | 91 | 13.6 | 77.4 #E #B— 47 | 45 | 92 AEEWEEL
75 |kt BEA 49 | 45 | 94 | 15.6 | 78.4 mA B 44 | 48 | 92 AEEWEEL
76 |EH & 46 | 49 | 95 | 16.3 | 78.7 R K 48 | 52 | 100 AEEWEEL
77 |E%F KT 48 | 47 | 95 | 16.1 | 78.9 xR BZ 42 | 44 | 86 AHE®IL
78 |NEE %EH 47 | 46 | 93 | 13.6 | 79.4 K ALF 56 | 54 | 110 AEEWEEL
9 % BF 55 | 54 |109 | 29.6 | 79.4 JKFE KR 52 | 47 | 99 AEEWEEL
80 B8 TfEH 44 | 48 | 92 | 12.2 | 79.8 fixig  FEET 51 | 53 | 104 AEEWEEL
81 [itA = 55 | 49 | 104 | 23.8 | 80.2 Kt #Ez 54 | 61 [ 115 AEEWEEL
82 |BEF X5 49 | 50 | 99 | 18.6 | 80.4 8 #®3 52 | 60 | 112 AEEWEEL
83 =% E=® 45 | 48 | 93 | 12.1 | 80.9 HHE ES e
84 |#H# —H 56 | 55 | 111 | 30.0 | 81.0
85 |K[E BE 52 | 51 | 103 | 22.0 | 81.0
86 |HE #F 57 | 50 [ 107 | 25.9 | 81.1
87 |8F 1HW 53 | 50 [103 | 21.9 | 81.1
88 8O &= 49 | 50 | 99 | 17.9 | 81.1
89 |F5 FE— 49 | 52 | 101 | 19.7 | 81.3
90 |RIE =XFF 55 | 57 | 112 | 30.0 | 82.0
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